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Number 5 in 71 will occour even though both ester and amide is less reactive then aldehyd and ketones. At the same time in this chapter 17.3 they say that formation of tertiary structures from aldehydes and ketones can be formed from their lack of reactivity? Is this because proton can not be added to aldehyde or ketone group? Why does 4 occour but not 5?
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[bookmark: _GoBack]H and C’s are not very electronegative but why can not the added nuclephile be electronegative and then you have O-group and a electronegative attachment on the sp3 carbon? Why does O and an e negative carbon in the first place create an unstable sp3 carbon?
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71. a. Which of the following reactions will not give the carbonyl product shown?
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7L a. 1,3.4,6,7,9 will not form the indicated procucts under the given conditions.
b. 9 will form the product shown in the presence of an acid catalyst.
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‘The addition of a nucleophile to the carbonyl carbon of an aldehyde or a ketone forms
2 tetrahedral compound. If the nucleophile is a strong base, such as R™ or H-, then the
tetrahedral compound will be stable because it will not have a group that can be eliminated
‘Thus, the rezction will be an irreversible nucleophilic addition reaction. (Recall that &
tetrahedral compound is unstable only if the sp’ carbon s attached to an oxygen T
‘Enoter electronegative atom: see Section 16.5).





